GUANDING
AUTOMATION

74



ABOUT
UuS

XTF A

FEATEREDLERATE—RERI. WL, &7
e BEN—HOARKBFEALY, AESEEEN
ERNEE. REER. FEUSSH, RIREFTUNEA.
E. BFMNE. MEHE, BHLES. SEHNE, BF%
ST, 3D HESELA,

BRARTLRET RN, KRELRE, BN
WERRL, T, ERLMHR, UESERREER,
SESLRFHEATY, ERSRESREN, NBLLES
VEMRBEBHASERE, BTAESREHNEENTE
MFkS, BEA—MLNYR. £ £ESRERE, 2
TTEREERES NI — RSB Ui,

BARKWES L. FEXT. HEHEHEWIL,
RS BHE. B0, BREMRET L, BN
SN BE, HLHALE, HBLUSHFN, BRI
HER. AR NFEE WL, T3, 8. FEw
SEME, WS, FE AT 6 FUBANES, hES
B tHE R HOAMAE,




ENTERPRISE

CULTURE
IV

Oy pumis

fEizdk, S3EeIF

ru ]

#HERHE, KEFRWOLHE, ERTHENAOCAEFEANORE, BROERE, BR80T XA A0 biEs,

8%, RIRR&H

BRNS— RO, NEFEFFES, FNEENHANH, FRETTERNEIE, BERBRARTHLREEN

BxiE, BRESEM T "L A" SIS AR R,







ATAFRNEEE, BRNRERE,
FREHNEIZRENRSEX,




DIRECTORY
=%

P

MEEESH 03
GDL-5 06
GDL-7 07
GDL-9 08
GDL-12 09
GDL-15 10
GDL-20 1

GDL-14 12
GDL-18 13
GDL-24 14
GDL-42 15
MBI RN 17
GDN5 25
GDN7 24
GDN9 25
GDN12 26

GDNI15 27



oo/ @

A= Ge MG EMIRT

|

RS @ =m

AEFEOEAR R ARkt A 7= ae Bl RS MM IRt "i

, : m—

oy \ L -

GDW5 28
GDW?7 29
GDW9 30
GDW12 31
GDW15 32
RIRESH 34
GDV1/GDV2 39
GDV3/GDV4 40
GDV6/GDV9 41
GDV12/GDV15 42
GDV18/GDWM2 43
GDWM3/GDWM4 44
MV RS 45
N/O BliRH S50 46

2R R HR R 47









MBI HZSH

ﬁ El-lu Micro linear guide rail

i

R ELSNEI RN, Bk, WK, EmESFEM,

LNBELSNETIFE, IRERRLESERNANDRRZE, SEEELENBEEREERNIMANRESERD, EdBRmAiE
HRGSEEERERED, ERGENERNEEBERLEN, ERXENEEEHEEHES, THEMAMIERE, HEREABRAE,
A H L SR NE E RIS TR R

GDL MEEHLZSHBRR

fR1 IERES
MEHRSHNEHHNRARNRIH, FAUFEERYEZRNSHEO /50, 51, BEEENHEBFEMRD, KBSHFR, RS
PERNRDN, FEFERTRR, WHEEE um SURSHEMRE, faTREMERANMEEMREE.

Hm 2 KIEEREIENNE
BFREESSHENEFEENEREN, ARERNNEA, EEENSED, BEAEERENSENRER, BEFEFENRERN,
RERATEHE, ARSI INEHEME.

i3 HEREHER
NEHESSWERR LERTHI, TERLGEBEINDIE, R ERftagiBmtaiEas, EENEEREEED, EHGEKH
BRI,

R4 Bd, EHENE
MEHESKHLLEERE, RRANEGREEZIRE, RUTEAEHRER, AHRNBEERITAREHLBIE, HIERENAR,
MR B a9 & w0 ERE.

HR5 RELE. HRES
BFRABENNIEA, BREZES, BWPHNRREARES), REAE, REESSHAEFERYE, ToERARNBENR, B
EEHEHEESY, RoUEIGERLISEE.

R 6 EIEAENK, MIES
REHZSYRATEINRER R, SEHENEIRE, FUEMLD/DN, SEEDRIIERT v 2BFERKERRTAXES,
BFNRZEMROAFRH, TRAHRENASHEANGAT, BNYEREAKRE, BHNEEETERERSHEE.,

03 Page

BiUXT [ WEFERE



S RMEEZRSH

Micro linear guide rail

NEHZSNWHNRER

1 EREMBELSYZADABERIMEZERNEDL,. SYRERAHE. 25 NEERSHELIRENDREHTEH, RENFHER
HEEEEERPEBRE, ENNHENERE, EEERSLLE. FUEIGRE LEERENEZMAIDRE,

2LBENERREERES L, ERUNEERLHHMERERFEENSNOREERENS, IF: 2RERNERINBLIZTNE,
FEEENTAANSaTHERE, SAXENIESEESEARDE,

3. HPRAHENERFEE NN ERLHERYER, FMESEARREHMANE, INFR 8 PRI EFIERMAREEEaLISEIRRENEE,
EEEEEHMERS, IENREEENSEEN, EXhoLRInaNEEEH.

4. BRANETF, ERESOHEHIHEFINEIBLEBRE,

MEHZSNNRIL RS
EERE (kgf* BX) , AARET
B

M iz #Has
M2 63 42 31
M2.3 8.4 5.7 42
M2.6 12,6 8.4 63
M3 21 13.6 105
M4 441 29.3 22
M5 84.5 63 47.2
M6 146.7 98.6 73.5
M8 325.7 215.3 157.5
M10 724.2 4832 356.7
M12 1264.2 840 630
M14 1682.1 1125 840
M16 2100 1403.5 1050

ZEBNEFRRTONMERBEBLOTSEAMATHE, HEFBENRFHANBRIBIEEE,

5, BARREANRESN, BTAREREZEINSIN L, TRRERE LEERIG, BRTFEHRHBHTREZRAEREERE,
BATUM GRS —HRE. (WHTRIBANEHERES) |

6, EBRLBERIFS (table) BTN SEFMBOBEL,

7. SGHIEREHFE LAOWEBEERE RETNEBEERTIIREFRT,

Page 04

FETRERESERAD



MEEHZSH
-ﬁ :l-ﬁ-lu Micro linear guide rail
ARBE SR
GDL 5 s - 1 L55(7.5) N
s By SHEE
(3RiE)
KRS B ] BER
| GDL | & | C PeimER :
| menss N
FRESNE

05 Page

BiUXT [ WEFERE



GDL5

Micro linear guide rail

NEESSH
SMER T
wi , 1 Z-M1xdepth
13
w3 ’_ w2 it =
? % P o i il h 7 2
T ¥ [EE! { =E
e d3
N N W LEL €& | LE
BRilEESH
. HAERT (mm) BERT (mm)
me ER (g) Weight Assembly Dimensions of Block
Model | MR | BE | 4 m | N | Wi | w2 | W3 w4 L1 | L2 | L3 |L4|Mixdepth | H3
ebL5c | 8 | 122 6 | 1 35 | 12 | 8 | 2 | 1 | | 96| |2M45 | 1
GDLSH | 10 | 122 6 | 1 | 35| 12 8 | 2 19 | 126 | | 2M2#45 | 1
ShiliEsH
a‘ii} Dimensions of Block (mm) Siiding dY"ﬂ"éFC 155d I E%d |r-1rstur1tun:ous torq-;le
rail installation bolt ¢ X Y
W |H4 | W5 We|d3|d4| h|E|F |Glirslatcabok) ; Nem | Nem | Nem
GDL5C | 5 . 36 | | : 2.4 | 3.6 . 0.8 | 7.5 | 15 : M2*6 540 | 840 | 2 13 | 13
CDLSH | 5 (36 | |24/36/08 /75|15 | Mz*é = 540 | 840 | 2 13 | 15
Page 06

FETERSHHERAT



Micro linear guide rail
RNEELZSHN

SR
w1
w3 ’_ w2 "
L en h
i T T
if t T | |
T i O 1 el s
1L A |d3
N W ,‘ E F | E
BRABSH
; PERST (mm) WRRYT (mm)
Bne B8 (g? o Assembly Dimensions of Block e
Model | @R |
Siider | Rails H H1 | N Wi W2 W3 !Wéi‘ L1 L2 | L3 L4 | Mixdepth H3
GDL7S | 71 | 22 | 8 | 15 | 5 7 |12 (25| |19 | | 96 | | 2M2*25 | 15
GDL7C | 10 22 8 1.5 5 17 12 25 | | 255 8 | 143 4-M2*25 | 1.5
GDL7H | 14 22 8 1.5 5 17 12 25 | | 31 13 | 216 L 4-M2*%25 | 15
ShREsH
WHURT (mm) B | BieREE s
= . . S X .
a%;} Dimensions of Block lo) ik dynamic load load instantaneous torque
rail installation bolt C Cco To Tx Ty
W |HI W5 Ws|d5 dd|h E size x length (mm) N N N-m | N-m | N-m
1.9 1.6
GDL7S 7 _ 5 24 ."4.2 | 2.5." 7.5“. 15” M2%6 650 1180 | 43 | 154 | 129
: { i i : = = | 49 | 41
GDL7C | 7 | 5 | | 24 L4.2 _ 2.3 | 7_5_J 15._ M2*6 I 1200 1960 | 7.2 | 292 | 245
9.1 7.7
GDL7H 7 5 24 !_4.2 _ 23 7.5_! 15 M2%6 1510 2750 | 10.0.! 526 | 441
07 Page

BT [ mEFFRFE



GDL9

Micro linear guide rail

REERSH

SMER T
L1
i :; ® L3 4-M1xdepth
dd L2
. oo ™ h
T e )
- L__:_‘Q I, | T [ !
= || d3
N__ W E i F E
BHRMESH
[ | AR (mm) BERS (mm)
me EE (g) Weight Assembly ~ Dimensions of Block
Model B | #R
el i ‘ mo|oN | ow w2 | we |wal ‘ t2 | iz ‘La,l M1xdepth! H3
GDLYS | 1 | 35 10 | 2 5.5 | 20 15 | 25 [ 215 | [ 19 | | 2M3*3 | 22
GDL9C | 19 | 35 | 10 | 2 | 55 | 20 | 15 | 25 30 | 10 | 208 | 4M3*3 | 22
GDLSH | 28 | 35 | 10 | 2 | 55 | 20 | 15 | 25 405 | 16 309 | 4M3*3 | 22
SNMNIESH
. S B | Sureiad St sk kbt
Model o o mungc = Ié%)d To | T T
rail installation bolt [s] X Y
W | H4 | W5 W6 | d3 | dd h E F size x length (mm) N N N-m | N-m | N-m
GDLIS | 9 | 6 35| 6 | 35|10 |20 M3*8 1070 1540 7.2 252'02 1";3'56
GOLC | 9 | 6 | 135 6 35 10 20| M3 1610 2660 | 133 | gin | 4
GDLSH | 9 | 6 35| 6 | 35| 10| 20 M3*8 2080 4180 19.4 "1%'5‘ ;365"2



GDL12

Micro linear guide rail

HEBEEEN
e R~
% N
- |.3 N 4-M1xdepﬁ1
d4 L2
m
2= | [0 W7 Ty .
IJ 51 T 4 7 gins r’(E‘-I— J‘ILJ.
4 |
1.d3
E"T‘_ F E
BRAESEH
; HERS (mm) BERRST (mm)
ne ER (g) Weight Assembly Dimensions of Block
Model e | @
BRABE oy N | Wi w2 | W W4 L1 | L2 | L3 | L4 Mixdepth | H3
GDL12S | 22 65 13 3 75 | 27 | 20 | 35 | 25 | |13 | | 2-M3*35 | 27
GDL12C | 35 65 13 3 75 | 27 | 20 | 35 | 34 | 15 | 216 | 4M3*3I5 | 27
GDL12H | 52 65 13 3 75 27 20 35 | 44 20 | 32 | 4-M3*35 | 27
SNMIESH
IR (mm) Rosnge | REISOE| WEBDON | yapmEg st
= : A R < EE c static .
h%‘:;d Dimensions of Block (thiny saeing dvnﬂﬁéc e Lguod ||:|rstuntan:oustorc-;lt-ja
rail installation balt 0 X Y
W |He W5 W6 | d5 dd| h | E | F (G  irohimm N N N-m | Nm | N-m
- - - - 55 | 7
obLi2s 12 | 8 | 35|65 45 125 25 M3 2000 200 | 183 | o5 | 4%
epLizc | 12 | 8 35 | 65| 45 | 125/ 25 M3*8 2960 4450 | 276 ;‘%% E‘f’
GDLI2H | 12 | 8 | 35 | 65| 45|125| 25 M3*8 3780 6430 | 399 | 318 | 267
|e ] & | B | B AR eS| &% | [ | 174 | 146
09 Page

BT [ mEFFRFE



GDL15

Micro linear guide rail

HEBESEH
SMER T
W1 L1
W . 4-M1xdepth
W3 W2 _d4_‘
= e n
g+ hjﬁ%W”T£QL_J EI ¥ i | il
T NIRCE
M W E ! F E
BRMESE
[ | AERST (mm) BERT (mm)
f: 8= EE (g) Weight Assembly Dimensions of Block
Model | BRI BBy m N | W | w2 | W3 W4| U | L2 | L3 | L4| Mixdepth | H3
GDLISS . 42 | 107 | 16 | 4 | 85 | 32 25 | 35 32 177 | 2M3*4 | 31
GDLISC | 64 | 107 | 1 | 4 | 85 | 32 | 25 | 35 | 42 | 20 | 278 | | 4M3*4 | 31
GDLISH 95 | 107 | 16 | 4 | 85 | 32 | 25 | 35 | | 57 | 25 | 427 62| 4M3*4 | 31
SHlESE
WIRST (mm) RIZRGE | GRICHT WABSAN  pysmmme stotc
= : - WR<) x EE ndar andard static| .
r.%(it Dimensions of Block Gerar) Siding dynungc iz Igg ||:|rstunton:ous torq:e
rail installation bolt 0 X Y
W | He W5 W6 | d3)dd| h L F size x length (mm) N N N-m | N-m | N-m
- e - 121 | 102
GDLISS | 15 | 10 | 35 65 45 20 40| MBI 2120 4040 | 311 g | 2t
GDLISC | 15 | 10 35|65|45| 20 | 40 M3*10 4390 6730 | 518 ?(73'88 ";i;}.?
GDLISH | 15 | 10 35| 65| 45|20 | 40 M3*10 5750 10100 | 77.7 6;;12 gg’;f
0

Page

I =N

R=5



GDL20

Micro linear guide rail

NEEHSH
SMER
. W1 L1 o
L3 4-M1xdepth
w3 w2 da_
T = , -
iy T = = oy
= | ) | T
1.d3
EL F E
BRAEESE
- HERY (mm) BERRST (mm)
= B8 (g) Weight Assembly Dimensions of Block
Model | @ | @i
Sider | Rails H H1 N Wi W2 W3 |W4 L1 L2 L3 L4 | Mixdepth H3
GDL20C | 133 156 20 5 10 40 30 5 50 25 346 | 55 4-M4*s 4.2
GDL20H | 196 | 156 | 20 | 5 | 10 | 40 | 30 | 5 68 | 30 | 523 72| 4Méx6 | 42
ENNIESE
ARRT (mm) RUEaRs PR e ]| pmanE i
h%il Dimensions of Block (mm) Siiding dynangc i bg %d |;stuntan‘|a-oustorq:e
rail installation bolt (o] X Yy
W | H4 | W5 | W6 d5 | dd h £ size x length (mm) N N N-m | N-m | N-m
46 | 458
GDLEOC. 20 | 1 | 6 | 95 _ 55 | 30 | 60 _ M5*14 5830 9420 _ 96.1 291 | 244
GDL20H | 20 | 11 6 95 55| 30 | 60 M5*14 7350 13500 | 136 | oo | 857

11 Page

UK | WFFE



GDL14

Micro linear guide rail

RNEERSH
SMERT
w1 Lu
I 1 L3 4-M1xdepth
W3, w2 _dd
E Ty U
¥ o = i?fL N —
oL d3
L e F | . E |
BRNBSEH
' o AERYT (mm) BERT (mm)
fiR=1 EE (g) Weight Assembly Dimensions of Block
Model | i@ | @
Slider | Rails H1 N w1 w2 W3 (W4 L1 L2 L3 | L4 | Mixdepth H3
GDL14C 21 54 9 . 2 55 25 19 . 3 31.5 . 10 22 . 4-M3*3 1.7
GDL14H | 31 54 | 9 2 55 25 19 3 42 | 19 | 325 4-M3*3 1.7
SNhilBsH
WIR (mm) S | | WA s
e : : +F x dar andard static| .
)f;je} Dimensions of Block (mm) Siiding dynamic load e instantaneous torque
rail installation bolt L2 Cco To i Ty
W | He | W5 W6 d5| dd| h E F size x length (mm) N N N-m | N-m | N-m
10.1 8.4
GDL14C | 14 | 55 | : 35 | 6 32 15 | 30 M3*8 1770 2840 20.3 | 547 | 459
210 | 17.6
GDL14H | 14 | 55 | : 3.5 | & | 3.2 | 15 | 30 M3*8 2320 4160 | 29.8 | 104 | 876
P 2

=5
REL

age

=11 5N



Micro linear guide rail

NEESSHh
SMERT
Wil L1 4-M1x=depth
L3
W W2
3 | 4 12
T 22 r;jj 1%
T LI 4 S . 1] iy :._13_:_
' T [ I':‘% %x I_ ;
d3
N L E F E
BRAESH
- BERST (mm) BERS (mm)
= B8 (g) Weight Assembly Dimensions of Block
Model B | B
Sider | Rails H H1 Wi w2 w3 (W4 L L2 L3 L4 | Mixdepth H3
GDL18C 44 0 12 3 6 30 21 4.5 39 12 28.6 4-M3*3 2.5
GDUBH: 61 0 12 3 : 6 30 23 35 | 50.5_ 24 404 4-M3*3 2.5
S22
WIRT (mm) B N | PERREE S
= 2 : < x n ord static|
a’i{il Dimensions of Block (mm) Siding dynamic load lcd instantaneous torque
rail installation bolt c co To Tx Ty
W | H4 | W5 W6\ d3 dda| h E size x length (mm) N N N-m | N-m | N-m
169 | 14.2
GDL18C | 18 7 35 | 6.5 _ 4.5 | 15 | 30 _ M3*8 2280 3810 _ 24.9 | 901 | 756
GDLI8H | 18 | 7 55| 65| 45| 15 | 30 M3*8 2870 5300 | 485 | 3o | &7

13 Page B

UK | WFFE



GDL24

Micro linear guide rail

RNEERSH
SMERT
W1 4-M1xdepth
w3 w2
d4
{ on
[ :
E ﬁ—@i g = |
d3
E F E
BB
' el BERT (mm) BRRYT (mm)
ity BR (g) Weight Assembly Dimensions of Block
Model | @i | B
Lohoill - I B Wi| w2 | w3 (w4 L1 | L2 | L3 |L4| Mixdepth | H3
GDL24C = 76 139 14 8 40 28 6 44 15 31 . . 4-M3*3.5 . 52
GDL24H | 1M 139 14 8 40 28 6 59 28 | 463 | | 4-M3*35 | 3.2
ShilgsH
WIRT (mm) S | | WA s
s el < x ndar andord static|
a‘;d?el Dimensions of Block (mm) Siiding | dynamic load e instantaneous torque
rail installation bolt L2 Cco To i Ty
W | He | W5 W6 | d3| dd| h = size x length (mm) N N N-m | N-m | N-m
GDL24C | 24 | 8 45| 8 |45 20 40|  M4x0 3780 6430 | 784 | 318 287
. . - : I . : - . | 65.6 | 550
GDL24H: 24 | 8 . 45 | 8 | 4.5 | 20 | 40 . M4*10 4870 9400 15 | 333 | 280



GDL42

Micro linear guide rail

REESSH
YMERT
L4
W2 L1 4-M1=depth
L3
wa W3 o L2
7 ' &) T ;
T T o7 =
- s 1000 D11 } . : (18 ¥llEe
1 A i =
1 d3
N W ka2 i
BRAESE
- #HERS (mm) BERST (mm)
= B8 (g) Weight Assembly Dimensions of Block
Model B | @
Lt B IR Wi w2 | ws wal U | 12 | L3 | L4 Mixdepth | H3
GDL42C | 140 | 294 | 16 | 4 9 60 | 45 |75| 55 | 20 | 39 |60 4M4*a5 32
GDL42H | 204 | 294 | 16 | 4 | 9 60 | 45 |7.5| 745 | 35 | 583 |79 4M4*45 32
SNAESE
WIRT (mm) B N | PERREE S
= s 3 T % n ard static,
h%:ji[ Dimensions of Block (mm) Siding dynurr&ic i |E(g ||:|rstuntan‘:ous torq:e
rail installation bolt [s] X Y
W | H4 W5 Wé| d5 d4| h |E size x langth (mm) N N N-m | N-m | N-m
GDL42C | 42 | 10 | 23 | 95 45| 8 45| 20 | 40 M4*12 6150 10200 | 26 | 38| 333
GDL42H | 42 | 10 | 23 | 95 | 45 8 |45 20| 40 Ma4*12 7910 4900 | 316 | gop | o

15 Page B

BT [ mEFFRFE






BRI

:I_I"_i EA Micro linear slide rail

GDN #&F/NEEHBIhWZHR

BEFN, BEE, FES/ELeEER

sk, BIHMEAAEN, AERYECSERES, 58k, fhEEtSEREDNE. RESEE, SERTENHE, REhiFENET.
FREARNSERIET, TRESAOAHE, BEENEE, BESSEHE.

BERREGERT, EBERT TREERE,

GDN &5 b 454

o ENERRLT: W, B, REE, WEK, RITE
o jEFES: GDN5, 7. 9. 12, 15 FEESBMMAE B, oI hsllaigTABRAELIDE.

17 Page



LB

ﬁ"_] !-'IEA Micro linear slide rail

GDW &I/ EEHEBNZER

mE# gt AEERANDBERARED, TREER,
HRamsEmizit, TARSHARZAGHEESAIEZER,
BREARMNNEERNLZ, TRRNKEAEEE.

., BREAAEEREHRAAANME, RAERZRE.

GDW RFIZ {454

o ENEFRRE: W, B, BLOE | N, RISA
o JE@FESL: GDWS, 7. 9. 12, 15 FEERNME
FEmFL, ol halhiET AR BRAEILLEE.

Rz 5B B

GDN/GDW RAINEEEEE: £S4FE8E. HRBRIEE IC BKeE, EFeE, EFE. SEENUE, hoZEaatEeE. EE
MR EEBIES,

Page 18

FETRREHHEREAS



nd 5

R FsEE

B 2 1R

Micro linear slide rail

FERERRERERADEEEN, HEMBRTEE, TEERRETERERZMR, BdRHER A, REF, BHAGHE
TELFEERMEREZEERR, FIhTEREHE LARFORTEFARFENGRER, BREREZASHEEBNCER—E8KE,
ARENRZREGEBINEPTES, 2—IREFNIESE, FRESEZEFRARY. RYT. B, BESH. MESMEER, DFRRTERIUIM

eI,

o FEARMEHERN~RES

GDW 12 C E 2R 1000 E Z1 P M Il + URC

GDN/GDW
5

Rt
5. 7. 9.12. 15, 20

ki
C: Es
H: hiE®

E: @RISR T
EicS: BRERRNT

B WA

HHKE (mm)

o EREHMRNIRES
o BHERFRES

GDN 12 C E
GDN/GDW %71
R~f: 5. 7. 9.12. 15, 20
RN C: HEEH: IHeE
E: i@ EREFFRII T

TS MRERHRNT

o BH@NFRES

GDN R 12 1000L E

GDN/GDW #F| —————————— -‘7
BHBH

R=f: 5, 7. 9.12, 15, 20
BHISE (mm)

1 9 Page

BiUXT [ WEFERE

|: RC @ILEIRR S (N

GDN12 B 15, 20 7]
%)

P mRe 2
—— B Esha

B R
M: REEH

BE:C.H. P
ME: ZF. Z0. Z1

E: U ERI0 T
FioS: BHREFFHRINT

1 BEBRHERERSORIAS, FsRCN I, =3ER
BRI, LAk,
2. GDN B GDW #i#& 9. 12, 15, 20 sLERMmER.

M: FEEN
HE.C.H. P
ME: ZF. Z0. Z1

P M U
RIHE

M + RC

P
L re: mumes
({¥ GDN12 B 15, 20 Thi&f)
BIME: M: RS

WE:C.H. P

E: BESRRIIT
FTioS: BHRERERINT




PN B,

ﬁ:.i ﬂ Micro linear slide rail

BEFR

GDN B MGW RANERNOEE, 7HEE. 5. %,
FHIR, EFULIGSHEER RERESHEE,

)
.

s 47

[0

N
o FEBEBIRNEE
SHE HENILURR LHEREFOUENE, BERE N BULLRRULEREFONE,

o ®1 BEFR B{I: mm
WS 5840 4 (H) | W ()
BEHNSTRTRE +0.04 +0.02 +0.01
BENBPSFRTRE +0.04 +0.025 +0.015
RMEE HHEERE 0.03 0.015 0.007
FMEE NBHEERE (EEH) 0.03 0.02 - 0.01
R C xR A BRTEFTE TEFTE (& 3)
itk D AT B BRTEFTE fTEFTE (N 3)

o EHSERTIEE

ERESERVBETHRERTRETANZANEREERE, FIFEAKEERNEE, CEARTFAEZANL, ERNSERE,
SHMESREESE, HFERESERNEERMNER, MTEFTERENRFERESIERNIEE,

v FR2 EBRIESZERIBER B{I: mm
BESE EEL (C) B (H) BERP)
BEHOBERTEE | £0.04 £0.02 £0.01
RE N WBSFRTIRE +0.04 +0.025 +0.015

BEHMEERE 0.03 0015 0.007
BT
RE N WIEEISE 0.03 0.02 0.01
SHITHNBE HiEESE 007 0.04 0.2
Btk C mxX#Eh A BRTEFTE TERTE(LE3)
itk D EXEI B EATEFTE TEFTE (&R 3)
Page'. 20

FETREMEERAT



PN
nd

® TEFTERSE

B} CX A, DX BZTEFTESHNBE. KEAX, REFTT=.

B 2 1R

Micro linear slide rail

© &3 {TEFTE

BESE (um) BEZD (um)
WIEE (mm) © " @) BIEE (mm) © ) @)
50 AT 12 6 2 800~ 1,000 23 16 3
50~80 13 7 3 1,000 ~ 1,200 25 18 n
80~125 14 8 35 1,200~ 1,300 26 19 12
125~200 15 4 1,300~ 1,400 27 19 12
200~250 16 10 5 1,400 ~1,500 28 20 13
250~315 17 11 5 : 1,500~ 1,600 29 20 14
315~400 18 1 6 1,600~1,700 30 21 14
400 ~ 500 19 12 6 1,700 ~ 1,800 30 21 15
500~630 20 13 7 1,800~ 1,900 31 22 15
630~800 22 14 8 1,900~2,000 31 22 16
WEND
GDN/GDW RFlizHEEgR, THE, ERE=MMED
o F|4d FEFR
TRESHR i MED ERABE
HiEE MR ZF EEER 4-10um C
EHE 20 0 c-p
BHE Z1 0.02C c-p

i MEASP C AmEmERE

B Bo

R ERERRREEGEHMS, DIRRHLEARENBRA, MPNESERNEHREE. HERREEBRES, PLHELR
REMBERESEBEARRAS, EFEQERRER, THESEE +U 8. 8 7 BRERGATEER (H) B0\, HAREANZERE
LR, #ANE9. 2515 RRMAMERIER. EFEERMERE, SEERRER (H) 2/, HANLAFREERR, WAFFEISE,
FETATERE (H1) 3/, SHENLASEERN, NEAKEZSE, FUATERE (H), RiEfRREl T T ENiaARE.

1

&

|
u

H; |
o F#5 MiPFLRERZZERERH
Bs prdk Hmm gidi= Btk Hymm
GDN5S GDN5 - -
GDN7 GDN7
GDN@ . 1 GDN9 . 21
GDN12 . 2 GDN12 . 2.6
GDN15 . 3 GDN15 . 2.6
21 /Page

BiUXT [ WEFERE



2

nd T

EXRENWRERERRAKE

B £ TR

Micro linear slide rail

AERNGERERT, UHNEPTR, EEFITRIFRERERNY, HEIESEARYT, BFAEXT /2P, HILLEENRTEX,
SHBNERGHVNFRE, MEEEIEBNNBE, FATTEAIT/NG E M (T Emin) DU R FLEL.

n
o ) — =
o
I T | T
E I P R . E
L .
L=(n_"|)xp+2xE ........................................................................................................................................................................................... Eq‘2-4
L: WIS (mm)
n: RieALE
P. RRFLEEE (mm)
E: BRAZHEES (mm)
o %5 HBEE B mm
" GDNR | GDNR | GDNR | GDNR | GDNR | GDWR | GDWR | GDWR | GDWR | GDWR
A 5M ™ oM 12M 15M 5M ™ oM 12M 15M
006 | 406 @ 556 | 706) 7020 | 50(3) | 80(3) | 80(3) | 10G) | 10(3)
55(4) | 55640 | 75(4) | 95(4) 10(3) | 70(4) | 10@ | 10(4) | 150@ | 150(4)
70(5) | 7051 @ 95(5] | 120(5) | 150(4) | 90(5) | 140(5) | 140(5) | 190(5) | 190(5]
100(7) | 856 | T5(6) | 145(6) | 190(5) | 106) | 1706) | 170(6) | 230(6) | 230(6)
13009) | 1007) | 135(7) | 170(7) | 230(6) @ 130(7) | 2007) | 200(7) | 270() | 270(7)
16007 | 13009 | 155(8) | 195(8) | 270(7) | 150(8) @ 260(9) | 230(8) & 30) | 310(8)
BREEL(N) 175(9) | 22090 | 3108) | 170(9) 26009) | 350(9) | 350(9]
195(10) | 245(10) | 350(9) 290010) | 390001 | 390(10]
27514) | 27001 | 390(10) 35014) | 430(1) | 430(11]
375(19) | 32003) | 430(1) 500019) | 510013) @ 51003]
37005) | 470012) 710(24) | 590015 | 590(15)
470019) | 550(1) 860(29) | 750(19) | 750(19)
57023) | 67017) 910(23) | 910(23)
695(28) | 870(22) 1070(27) | 1070(27]
&5 (P) 15 15 20 | 25 40 20 30 30 40 40
EWE E)| 5 5 75 |10 s 5 10 10 15 15
EWERRA| 25007) | 595(40) | 995(40) | 1995(80) | 1990(50) = 250(13) | 590(20 | 1190(40) | 1990(50) & 1990(50)
BAKE 250 600 1000 | 2000 | 2000 250 600 1200 | 2000 | 2000
. o —ABRILE RTAZN 0.5--0.5mm, RIETFHIEE E RTAZRIEN 0--0.3mm,
o FEBERAKEREE. CRESIFEESANEAKE,
o M MEHFENRERARE (SUS).
° ERIBAKEFNMBANZKE, EPEARRERESTABRE,
o EEPBEFREM, WSEMBE,
Page'. 22

FETRERESERAD



Micro linear slide rail

BRI
SMERT
L
g Y
@D
9 [ _ [T
# T i E—

SNHHESE
%Eﬁl B & Weight
ZABH ,
AR : WRRT %Rg W R s
= Wbl o (mm) Saof g, | Qe AlowobleStatc .
h%d?el size Dimensions of Block m e W il moment a5 B
H{H N WBBCL L G G| M HWHDhdPE mm N Gk Nhfnkinn-whmhfkn @ kgin
GS%N 96 16 08 0.008
615|35/12/8(2 |- - M245 1) 5 363608241575 M6 054 @ 084 2 13 13 015
GS%“ 19 126 0010

23 Page



Micro linear slide rail

MRS MERH
SMERST
1
L
C
_ 2D -
1 I~ IREHRL :
f I:/ /1 ! I/: A1 ' H J ) ::r+11
WP B ar T L
od.
E | P [ e
SHhlESH
BHE
g @ 517 R Weiht
HERT - WA e S o & Bir@ie
Companent BIRY (mm) mm) Szeof Bosic | Basic | Allowable static
= Size of slide rai Dimensonsof Block | fixingbolt dynamic| static | moment | MR BSh
Model of rated | rated Slider | Rails

H M NWB|/B C L L|[G G| M HWHHDhdPE mm CkN kN Mk M M g gm
67'35” - 119 |96 065 118 43 19 16 007

G_E:N 8 15 517 12/25 8 135 225 - @12 M2x25/15 7 48 4223241575 M2x6 098 | 124 470 2.84 2.84 0010 0.22

G%” 13 218 308 137 | 196 7.64 480 480 0015

B Page 24

e A S EaRAT



el
i

GDN9

Micro linear slide rail

PURILBHER
SMER
L
L.y
C
£ r@g* ) ij
I : (.— T‘ ’
£ // !LL'L7 L{ LL’- - TL[I]:_
E'mf" P ‘ |_, E _

SENMIESE
i) ES
LT )
iy AR (mm) IR RY | @ @ SEBNE
me F S of side ral o (mmc))fBlod( Srlzg!of Bosic | Basic | Allowable static N ——
Modsl e o =t | Sder |Rals

! + + 1 + + + ~ + + + + + 1 - - + + - - dimr(il. mi 1 Imd 1 + + 1 1
HH N WB B C L L GG M HWHDhHdPE mm kN Ck Mk M Mg gm
GQ%N - 21519 107 154 | 72 30 25 00N

GQ%N 102 552015 2510 189 289 - @14 M3x3 18 9 65 6 35352010 M3x8 186 255 1.76 7.35 7.35 0016 0.38

G‘}%N 16 29.9 39.9 255 402 19.60 1862 18.62 0026

25 Page



GDN12

Micro linear slide rail

CLET )
SMERT
L
L
C
@D ;|
q A T .
fl Sy i { e
TrTT T
I E | P E L_E-J

ShME3H
; EE
Big Bm B 2.
AR BURT (mm) AR R | @ @ SEBHE
m | TR Szm ot sida ol _(mm) e e | A s
Motil size Dimensions of Block gglpgf dynamic| static moment ik

t + + 1 + : ; ¥ + R ¥ + { ~ PR ¥ " + .msrd. Iom'EHd ¥ + { 1
H b N|W[B B C L L GG Ml HWHDh dP E| (mm ok kN R M Mg gn
GDN

el |25 13 200 247 153 55 | 47 0022
?Eg 13| 375(27|20135/15 217/347 - | @2 M3x35(25/12 8 |6/45 3525125 M3x8 | 284 | 392 2548 1372/1372 0034065
(1;2D+T 20 324 455 372 588 3822 36263626 0054

B Page 26

FETRERSHHERATD



GDN15

Micro linear slide rail

EERR
MR Me M‘f
= 1 e
B
B d0 k= ©]| &
Lo
SHHESE
_ —
R~ ?ﬂﬁl- ~F %%% %g YEhE | '
me Component *%gdé%ﬂ} % Szeof | Bosc | g% AEWO static .
MOZ| size Dimensions of Block f‘mrg dyr{r]tngm m moment rall ik
srdarci ood | ot |
HI-I,NWBEHC L L GG,, M H;ng-lnDh dPE(mrn) ctkN)coucw)Mmh“,;’rbhh'm kg kg"m
ﬁgg’ S77 %2 - 312 404 311 121 102 0042
GECN 16/ 4 8532253520267 421 M3 M3x4 3 15 10 6 45 3540 20 M3x10 461 559 4508 2156 2156 0059 1.06
45
s 25 434 588 637 91 7350 57.82 57.82 0092

27 F’aqe



W s s silies e
B B —1TGa Ls
2-Mxl £ D
o T 5L —" .
N Wha le |
LE P
& Gn
Ba £
IL". T i
! N W
Shilg25
- . . . =R
AR BERST E%g ﬁ%% g%E FahiE | et
| (e i L (mm Szeof | Basic | Bosic Aol i Sk
BE size S Dimensions of Block fidng |dynomic| static = moment | SR iEEL
Model boltof | rated | rated Slider | Rails

sideral| lood | load

H.H1_N .W_B_a.c : : . - _G_ = : = .W.WR.WB_HR. D.h .d.P.E. e .COW).N%HNE%.N%. - .kg:m

GOW Bl2] - M2.5x1.5

65 15|35 17 141 205 - @08 110 - 4 5516320 10M25x7 068 118 55 27 27 0016034
GDW e M3-
5CL 5 6. THRU

Page 28

FETRRENERAS



GDW?7

Micro linear slide rail

RESERHR
SMERT
L
Ly
&
—l-—G—D]-—
{; L i
o _';M R T
i
ad 1!
A= P
S22
AR BRY (mm) R 2r "5 S zvmnm
g Component e I ~(mm) Szeof | Basic | Basic | Alowable static N,
Mod?al size Dimensions of Block m mlc S’gmggg moment Sider | Rolls

HH| N|WBBC L LG G M H WWHDhdPE m kN ckn Ve M Mg g
GDwW

7C 10 21 312 137 206 1570 714 714 0020
919/566|25/19| 3 - @12/M3x31.85 14 - 52 6 3.2 35 30 15| M3x6 0.51
?:"{ 19 308 41 177 | 314 23451553 1553 0029

29 Page



GDW9

Micro linear slide rail

NEEERN
SMERT
L
Ly
C
2D
e T U ey
o= T w a2 — -2
! ¥}
od 1
=k P
SNMNEBH
A | B4 B EE
WER HWER | Weight
AR ) ki) | o | o | Ao
me Component Eime of shide ol ~ (mm) Sizeof | Baosic | Basic Allowable static Bk w8
Mo?al size Dimensions of Block m mm m moment S | Rests

sliderail| load | load

H-H,.N-W.B-B,-C- L L .G.Gn. MxI.Hz.WR-WB.I-h.D.h.d.P.E.(n'rn}I CkN) | Colkn) | Ve My | My | kg I

| | N-m | Nm | N-m m
G,;Dé” 21 4512 275 293 275 | 412 4012 1896 1896 0040
12129 6 30 - @12 M23x3 24 18| - | 7 645353015 M3x8 091
GEJV 23|35/24 385 507 343 | 589 5454 3400 3400 0.057
Page 30

FETRREHHEREAS



GDW12

Micro linear slide rail

BRI
SMER
L
L
C
_._@’_Dl.._
t} L, i
"
od L
E P
SNABSH
WG Bz BAE B
. g% xR MER | Weignt
- Ciza of shda roi ~ (mm) Size of | Basic | Basic Allowable static | |
e size Dimensions of Block fixing dynamic| static moment R B
Model boltof | rated | rated Slider Rails

HHNWBEBC L |L GG M HWWHDhdPE m ck i M MM g gm

GDzz":V 15313 461 392 559 70.34 27.80 27.80 0.0M
1434 8 40 28 6 - @12 M3x3.6 28 24 - 858 45 45 40 20 M4x8 - 149
12H 28 456 604 510 | 824 102.70 57.37 15.53 |0.103

31 Page

BT/ -



GDW15

Micro linear slide rail

RESERN
SR
G, [
B, 1:: | ‘ 2
& I ! n C
4-Mx1 %J /I/—“G
i :_QSJ‘_’_, ﬁ L Q ; L
H T T T Fr
5 fl . P < +] = ) ! . L
He LLE = 2 L
Wi E P J
Mg Me My
i o
P < {8]|, ||®
&Y = .
SNilBsH
#Ehey B s
AR EHRY (mm) BRT RIT| I8 far B hiE
S MO SIS
Model b | Spese | e Siier | 2o

. dderal bod lood | | |
HH NWB B CL L GG M HWWHDhdPE mm ck G| Mk | M Mg kg

ERY 20 38 548 677 922 199.34 5666 5666 0143
1634 9 604575 52M3Mdxd2 32 42 23 95 8 45 45 40 20 Mdx10 286
GEw 35 57 738 893 1338 29901 1226012260 0215






RXRESH

ﬁ"_] !-'IEA Cross roller guide rail
DRE S
GD \" 1 = 20 ~ oL N
ATRS i REAE
AHES ERHUERS . BER

VE N EER

WM & GH EBHR

M/V & H | B&

N/O & P WER
FRsaE

PEIS R

Page". 34

FETRREHHEREAS



RXREESH

:I_I"_3 !‘-lal-lu Cross roller guide rail

SRS

2 ANFHSNHMARES VERENSH, BEFRFR, BERTEEMR, AEXVHINETRFESSHEELN V EREE
LIFEEER, URRSIAHNER, SHSBE. FRNEZIER.

R R ERENE, REMRENY, B0/, HitEN, BRERA, MEEHE/)\, BREHES, HLABHME. SRR,
EMNEITRTE, REERAE.

RN EHESNBNRES®

* ESHIE

I L:SO( ft 'CC )10]3(km) I

fw p
Hop: L-TEFD ft- EERSK fw- HEERS c- MENPE  pe- iHEHERERS ft: STEERECSI100 8, ft=1 HERL fw,

IERM ForE RN OEEENHES, EE/NTF 15m/min ZHRPERBRDOPREDHS, EE/NF 15-30m/min

fw 1-1.5 1.5~2.0

o SuffEaitE

I - L*10 (h) I

e
25| R ()
b Lh- BREE L BEHS |- FREN n- SARESIN,

35 Page

UK | WFFE



RREESH

ﬁ"_] !-'IEA Cross roller guide rail

HEtE

o TRKERAHHE

XXX )

K /2
o SHEKEIE
SHNEEFNFTEN15E: L2 15 2Ed: L-BHEE (mm) ; LEBTEEEE (mm) ®REEEE: KS L2 2P K FREEE
& (mm)

REHHE: n=(K-20)/f+1 . n- REME (BB, o ®RERER,; - B&EE

o HEIE
EEEE Wi
L1
HEHE
o 6
G
FEDRE C c=G)*c, C=(9)¥27"¢,
WERNA Co CO=(%)C01 C=2*(r21)cm

#=h: C-SE=RA (KN) CO- MERRE (KN) | C-SMEaEaEEsfe (KN) Col- ST RENIMERNE (KN)
n- B nf2- B (BB

Page 36

FEDRERSMEERAE



i

RRESH

Cross roller guide rail

BENERE
g | |
S
iy
w1 1
n v n
a !
il i
il
Nl Y
FiTHE
(pm) 28
£ Tices
20 / GH
16
|
12
74 P
o
4
0 HE( mm)
200 400 600 800
BESH foplEN BE5R (=1 BER
T s N GH H P
e e |
SHMERERA, BOTFTE % FEENE
BEERTiEE +0.02 +0.02 +0.02 +0.01
BE EAERMeE 0.02 0.02 0.01 0.01

1E=12 EXBE + RE¥E

2. BEHERMEER—SHLKRSMARERN 4 RSN, mER—L RS,

37 Page



R RS

nd i Cross roller guide rail

EREEER

o ENREENEE
R FEHSNE BN REBNSEFAWEFR:

ENREXENREEERMIRE TSN METRET
g, MREGVREMETEE, BENRSENZRONEE.

Al: EREEEXNETRE,

BEMCH: FTEE: EEXERR,

EEE: BNTADNEEESRERRN G DRENGEE.

Bk, BURERBRRENEE, ERERENEUTSH
FTEHE,

o FMHAE

WEBFR, MNREEREERRETRITREE, 28

/IR @bg BRI SSNHRERTIER, BTPONSNBEN—E,

FNRENHERENRSESEFRANAR. SMERELSSNANSGHRAFRE, BEERIRY, BERTRELEH, FEEHNR,
Bk, EREFTANNRNORE., WRBENNEERS, WRiERUTEBRRNEER RSN BRI RNLITE,

>—" ql
JENEE

ENEESNECTESE TiEfT, ERNEREEREBE 100°C, EWFEESNRINETEERRERE 30m/min,
g

ARNEEBNRED FENEREAIEE R, RFEASEE, RNSNEeEHIEE, HREXYSHENETEENSEN (V2 15m/
min) , EFEER N32 il (GB443-84) |, 40°CEah#SE 28.8-35.2mm2/[s, EHIEESEDERFIDR, HEN (V < 15m/min) HEEE
FAEEEHRE (GB7324-94 24) i\,



RXREESH

ﬁ !‘-lal-lu Cross roller guide rail
GDV1/GDV2 $MER
® GDVI

W FAGRE @)

" —— &[0
%_%l_ 1 4{*3* {-@‘I{]J ‘C‘}? | Da . . | — T i
F 1
G nx F G R
I L I
e GDV2
w ; ZiA#)
[
H r—@ «@ ff | | Ly, I I
) — o [GBEYY)
M IR e, B2 o, T
a1 I J
G fix B G R
1 Lo I
REEERT
B8 (mm)
2 =iy e BENE | gy
- BX | B&RY RERT |
- SE I TW[O| ™ [G[H[C[S|d[D[h[T[Da]R [g]Ff| 2] Cl [Col|mm| g
GDVI-20-5Z | 12 120 | 1%10 | 14| 5
GDVI-30-7Z | 22 | 30 | 2*10 19| 7|
GDV1-40-10Z | 27 | 40 3*10 265 |10 |
GDVI-50-13Z | 32 |85| 4 |50 4*10 5 (39|18 M2 165 3 (1.4 /15|15 34| 2 |25| 13 |0108| 012 | 1 |0.438
GDV1-60-16Z | 37 | 60 5*10 45| [ 16 |
GDVI1-70-19Z | 42 | 70 | 6*10 | 49 | [ 19 |
GDV1-80-21Z | 52 | | 80 7*10 | 54 [ 21 ]
GDV2-30-5Z | 18 | 130 | 1%15 21 | 5 |
GDV2-458Z | 24 | |45 2¥15 33| |8 |
GDV2-60-NZ | 30 | 60 | 3*15 45 | | n |
GDV2-75-13Z | 44 | 75 | 4%15 53 | [ 13 |
GDV2-90-16Z | 50 90 | 5*15 65 16
GDV2-105-18Z | 64 | 12| 6 |105 6*15|7.5/54|25(M3 255(44| 2 |2 |2 73|25 4 |18 | 02 |026| 1 | 091
GDV2-120-21Z | 70 | 120 7%15 85 | (21 ]
GDV2-135-23Z | 84 | 1135 8*15 193 | [ 23 |
GDV2-150-26Z | 90 | 150 9*15 105 | 2 |
GDV2-165-29Z | 96 | 165 1015 (7] | 29 |
GDV2-180-32Z | 102 180 11*15 1129 | 32|

F: FPCIKN) - STEENOMEDRE  COIKN)-- SMEHNFERRE

39 Page B

EUET | M



R RS

ﬁ't_] !.-|E|4 Cross roller guide rail
GDV3/GDV4 MR~
® GDV3
W Z(A-40)
Il
I 1 i /
H 1 | | | nl | |
b 1 @ @ :r@ @} % %
PR - (1 e e AN L3 I i
L | 5 11l T 1f
P 1 ¢ - 53 T@:.” @ i D“</ gl ¢ T
nl Tt F ]
G I__ nxF G —
I Lo I
® GDV4
L] (M)
1
i t I l I g R
—RINETCE gt
| X —‘t- 1 = — <</8> f.j“
Sd . —t”é | 1{&_ L1’rr‘«*¢€:};¢. | Da i 1
T \\h — Jrlr
nx F G R
1 Lo I
REERRT
Bz (mm)
sx b L —
J:.\ BAx | @ERY LER %g (KN)
== TR W[ [G[H|C[S[d[D[h[T D[R] g[F| Z | Cl[Col|mm[ g
GDV3-50-7Z | 28 | 150 [1%25| | ' 136 | 7 | '
GDV3-75-10Z | 48 | 75| 2%25] 51 10
GDV3-100-14Z | 58 | 1100 3*25 | |7 14
GDV3-125-17Z | 78 | (125 4*25 | | 86 17
GDV3-150-21Z | 88 | (150 5*25 | |106 | | 21 |
GDV3-175-24Z | 108 | 18 | 8 |175|6*25|125/8.3|35 M4 33 | 6 (31|25 3 [121| 3 | 5| 24 028/038| 1 |192
GDV3-200-28Z | 118 | 1200| 7%25 | 141 28
GDV3-225-31Z | 138 | 1225/ 8%25 | 1156 | [ 31 |
GDV3-250-35Z | 148 | 1250( 9%25 | 1176 | 35
GDV3-275-38Z | 168 | 1275/10%25)| 1191 38 |
GDV3-300-42Z | 178 | 300[11%25| [21] 42
GDV4-80-7Z | 58 | | 80 | 1*40 | | 51 7
GDV4-120-11Z | 82 | 1120( 2%40 | 179 | |
GDV4-160-15Z | 106 | 160 | 3*40 | [107 | 15 |
GDV4-200-19Z | 130 | 1200| 4*40 | 1135 19
GDV4-240-23Z | 154 | 1240( 5%40 | 1163 | 23
GDV4-280-27Z | 178 | 22 | 11 (280|6*40| 20 [10.2/4.5|M5| 43 | 8 42 25 4 [191/45 7 | 27 064078 11 | 3.19
GDV4-320-31Z | 202 | 1320( 7%40 | 1219 3
GDV4-360-35Z | 226 | 1360/ 8*40 | 1247 35
GDV4-400-39Z | 250 | 1400[ 9%40 | 1275 39
GDV4-440-43Z | 274 | 1440[10%40| 1303 43
GDV4-480-47Z | 298 480/ 11%40 1331 47 |

F: ‘P CIKN) - SMEENMEDNRE  COUKN)-- ST REOMERRE



RXREESH

i ﬁ-‘. Cross roller guide rail
GDV6/GDV9 4MER T
* GDV6
L ZUh %)
1
F777 o
] ey 1
IREEEY o
Ly |1 = if
ey s wlol S 08860d
e R [ '\ . Y - FlJI
%_Fm— g B :irl ‘@‘ Da</ p | T f T T
_h F I }
LG nx F G R
I Lo 1
* GDV9
W Z(A %)
1!
Az [5 [ _@_ _@_ FIT@ B L/ P | |
! ]
g P s [MBuaes
= * = gy fre e {F
Sd g« 3 £ 5 1 A1 D I I T I
T i sC A I | el c
Rl T F I
6 nxF G .
I Lo I
SREERY
B (mm)
S BH =80 e BEEW gy
o . |BA| #@8RY RERY T |
=5 NI A WO | [G[H[C[S[d[D[h[T[Da[R[g[F| Z | C [0l |mm| g
GDV6-100-7Z | 56 | 100 | %50 [72] z |
GDV6-150-10Z | 96 | 150 | 2*50 102 | 10
GDV6-200-132 | 136 | 1200 3*50 132 13
GDV6-250-172 | 156 | 250| 4¥50 [172] 17
GDV6-300-20Z | 196 | 1300 5*50 202 20 |
GDV6-350-242 | 216 | 30|15 350/ 6%50 25 M| 6 |M6| 52 9552 3 | 6 (242| 6 |10 24 172|194 1 &7
GDV6-400-27Z | 256 | 400(7*50 | 272 27 | '
GDV6-450-31Z | 276 | 450 8%50 312 3
GDV6-500-34Z | 316 | 500 9%50 1342 34
GDV6-550-38Z | 336 | 550 10%50 382 38
GDV6-600-412 | 376 | 1600|1150 412 M
GDV9-200-10Z | 118 | 200 1100 141 | 10
GDV9-300-152 | 178 | 1300(2*100 21| 15 |
GDV9-400-20Z | 238 | 400 3+100 281 20 |
GDV9-500-25Z | 298 | 1500 4*100. 351 | 25 |
GDV9-600-30Z | 358 | 49 | 20 600/5+100 50 b7 | 8 |M8| 6.8 10562 4 | 9 4217514 30 432/ 44 1| 2
GDV9-700-35Z | 418 | 700 6+100 491 35
GDV9-800-40Z | 478 | 1800(7*100. 561 | 40
GDV9-900-45Z | 538 | 1900 |8*100. 631 45 |
GDV9-1000-50Z| 598 1000 94100 701 50

i &P CUKN) - STERENEENRE  COUKN)-- MNERENIERRE

41 Page

BYET/



nd G

GDV12/GDV15 4Rt

R RS

Cross roller guide rail

® GDV12

©
L 5 b . N @
sd 7 (I: T *{4*3* ) ;:r.f ,{!} Da ! f j
Tt I = g f
Anl 1 F 11
G nxF G = R
I Lo I
® GDVIS
W Z(A )
1
i e i i N /
(@ © /0] ®7}@' %%%
— ] — i
b o alal S Sy Y
R B b e el x EJ f
h| 1 F i :
G nxF G R
I Le I
TBRIEBRYT
B (mm)
\\\ = FERY o wEE | gy
o . BA| 88RY RERT | W
== TR W[ nF [G[H]C[S[d[D[h[I[DalR[g[f| z | [0l |mm] g
GDV12-200-7Z | 110 200 1%100 145 7
GDV12-300-10Z | 190 | 300 2*100 205 10
GDV12-400-14Z | 230 | 1400 3*100| 285 14
GDV12-500-17Z | 310 500 | 4*100 345 17
GDV12-600-21Z | 350 | 58 | 28 |600|5%100| 50 | 28 | 12 M10| 8.5 | 14 |8.2|5| 12 |425/12.5/20 21 |7.26 | 7.68 | 1 | 24.6
GDV12-700-24Z | 430 | 700 6*100 485 | 24
GDV12-800-28Z | 470 | 800 | 7*100 | 565 28 |
GDV12-900-31Z | 550 | 900 8*100 625 3
GDV12-1000-34Z | 630 | 1000/ 9%100 | 685 | 34 |
GDV15-300-8Z | 190 | 1300/2+100 | 205 8|
GDV15-400-11Z | 240 400 | 3*100 | 280 1
GDV15-500-13Z | 340 | 500 | 4*100 | 1330 13
GDV15-600-16Z | 390 | 600 5*100 405 '
1 71| 36 — | 50 |34.4| 14 M12/10.5 17.5/10.2 6| 15 || 15 | 25 1122 [12.36| 1 | 389
GDV15 -700-19Z | 440 700 6*100 480
GDV15-800-22Z | 490 | 800 7*100 555 | 22 |
GDV15-900-25Z | 540 | 900/ 8+100| 630 | 25
GDV15-1000-27Z | 640 | 11000 9*100 1680| | 27 |

F: ‘P CIKN) - SMEENMEDNRE  COUKN)-- ST REOMERRE

Page 42

FETRRSHERAT



RXREESH

:I_I"_3 ;lal-lu Cross roller guide rail

GDV18/GDWM2 #MER T

® GDV18

T
=

* GDWM2

Ei, nxF E:

L

e

Q%% AL

B4 (mm)
e il BERE | e
S | mx| @8Ry LHRT i LY
e . pE 8
A[W[LO | mF [G[H|C[S[d][D|h][I[Da[R|[g|f]| Z | Cl|COl mm]
GDVIB-300-9Z | 190 | 1300|2100 | 262 9
GDV18-400-12Z | 240 | 1400|3100 | 346 12 |
GDV18-500-15Z | 340 | 500 4*100 | 430 15 |
GDV18-600-18Z | 390 600 5100 514 18
GOVIB-700-207 | 440 83|40 700 gvigo| 50 385 18 M4 125185102 6 18 | 19 28 11221236 1502
GDV18-800-23Z | 490 | 1800/ 7*100 | 654 23 |
GDV18-900-26Z | 540 | 1900 8*100 | 738 26 |
GDV18-1000-29Z 640 1000 9*100 822 29
GDWM230 | 18 | | 30 1%15 | | I | [=] 5 |
GDWM2-45 | 24 | |45 | 2#15 | 33 8
GDWM2-60 | 30 | 60 | 315 45 1l
GDWM2-75 | 44 | |75 | 415 | 53 13 |
GDWM2:90 | 50 | 190 | 5*15 | 65 16 |
GDWM2-105 | 64 |12| 6 [105| 6*15 |7.5 15 19 M3 255/44| 2 (11273 25 4 18 099 098 1 136
GDWM2-120 | 70 | 120 7415 | | 85 21|
GDWM2-135 | 84 | 135 8*15 | 93 23 |
GDWM2-150 | 90 150 9*15 105 26
GDWM2-165 | 96 | 1165 1015 117 29 |
GDWM2-180 | 102 180 | 11%15 | _ | L] 29 | 32|

iE: F:PCUKN) - E’\ﬁﬁﬂﬁﬁﬁiﬁﬁﬁ COI(KN} §’I‘$Eﬁﬁﬁfﬁﬁ%ﬁﬁ

43 F’aqe



nd G

GDWM3/GDWM4 4R

RREESH

Cross roller guide rail

® GDWM3

L

L
Es nxF . Ei
F [} t
i 5 .
oy A X 23 |_ _h \%_ ep zZ
i - - o
2 H © d oo @?{) & H s %:6 o=
3 = = }u ‘
% | & o o} = CHEARODBY
E: F Ez M h‘a
& GDWM4
L
1l E nxF Ei |t H
F D Ty Jt
A R |
] B8 O - *S ep z
i Fodoodool] 4 g%l 7 &
= W B = O T
Ez F Ez h
TREERSY
& (mm)
e | il | BEEA | gy
we . |BX| E8RY RERT | M
= "B AW |nF[G[H[C[STd[D[h] T [Da[R g [F| Z | € [Col |mm| g
GDWM3-50 | 28 | |50 | 1%25 | | 36 7 |
GDWM3-75 | 48 | 75| 2%25] 51 10 |
GDWM3-100 | 58 | 1100 3%25 | [ 71 14 |
GDWM3-125 | 78 | 125 4%25 | 86 17
GDWM3-150 | 88 | 1150 | 5%25 | 1106 21
GDWM3-175 | 108 | 36 | 8 |175|6*25/12.5/ 25 29 (M4 33 | 6 31166 3 121 355 24 | 199 296 | 1 205
GDWM3-200 | 118 | 1200| 7%25 | 141 28
GDWM3-225 | 138 | 1225/ 8%25 | 156 31
GDWM3-250 . 148 250.9*25 176 35
GDWM3-275 | 168 | 1275/10%25)| 1191 | 38
GDWM32-300 | 178 | 300[11%25| [211] 42
GDWM4-80 | 58 | 180 | 1%40 | | 51 V]
GDWM4-120 | 82 | 1120( 2%40 | 79 11
GDWM4-160 | 106 | 1160 3*40 | 107 | 15
GDWM4-200 | 130 | 1200] 4%40 | 1135 19
GDWM4-240 | 154 240[ 5%40 | 163 25 |
GDWM4-280 | 178 | 44 | 11 280|6*40| 20 40 | 35 M5 43 |75 41|20 4 191 5 27 | 328 691 1 |3.56
GDWM4-320 | 202 | 1320( 7%40 | 219 31
GDWM4-360 | 226 | 1360] 8%40 | 1247 35
GDWM4-400 | 250 | 1400[ 9%40 | 275 39
GDWM4-440 | 274 | 1440[10%40] 1303 43
GDWM4-480 | 298 480|11*40 1331 47

E: FJP CURN) - BMEEREEDHE  COUKN)-- ST EENIERRE

B Page IAA

FETRREHHEREAS



nd 5

M/V BEEH S HE

M/V BLiR st S5

M/V type needle roller guide rail

MIVERZFEHRRN, ERTERW AR S, IHMBXCORT R AW, (BEESEHRIRNEREB/ERBR/NOEZES,

MR RA RN,

SR

m1

Axd5*
Il
Lm AR A = T SRS
— 5 - - o~ 4 = 14 _F___-
o — =
2 a W
A o © Hr
Z: : v k7 7
o Li | (- |
L
TEREERY
BNE #4858 A | B |Da| F | J | N | L1 |L2|N|a|d|e|le|f|g|mim}|g| |t |u]|ul
GD-M/V |3015| 30 15 | 2 |10.5|155 17.4(1)40| 3) | 55 07 |85 M4 M3 |525/105 8 |55 7 165 | 7 7
GD-M/V |4020| 40 | 20 | 2 [13.5(225 22 (2)80| 4) |75 13 |15 M6 M5|75(132 10 |55 8 20 | 1 |105
GD-M/V |5025| 50 25 | 2 |17 | 28 28 (2)80| 4) | 10 1.3 115 | M6 Mé6 |75 (182 12 7 9 |15 |13 | 13
GD-M/V |6035| 60 | 35 | 25| 20| 35 355(100 (50| 1 13|15 M8 M6 | 10 |26 14 | 8 9 20 20| 18
GD-M/V |7040| 70 40 | 3 | 24 | 40 H5(100| 50| 13 1.3 |185 | MIO M6 |125| 29 16 |10 9 256 | 20| 20
GD-M/V |8050| 80 50 | 35| 26 | 45 48 |100 |50 | 14 13|20 M2 M6 | 14 | 37 20|10 9 30 30| 25
1) MFEE 100 L1=35(2x) 2) MFEE100: L1=50 3) =&/N.15  4) & 20,
EE
J=
Bs | e KEL bt mm| g
GD-M/V | 3015 | 100 150 200 300 400 500 600 1200
GD-M/V |4020| 100 150 200 300 400 500 600 1500
GD-MN_5025- 100 200 300 400 500 600 700 800 200 1000 1500
. 1| .43
GD-M/V |6035| 200 300 400 500 600 700 800 900 1000 1500
GD-M/V |7040| 200 300 400 500 600 700 800 200 1000 1500
GD-M/V |8050| 300 400 500 600 700 800 900 1000 1500
HittR~HEER.

45 Page

EIET | MEHE



nd G

N/O Eig¢ Shal

N/O BIZR S

M/V type needle roller guide rail

N/O BREREHRFRN, IHSNERTERNEARS, RERLEEHIINEHEHEHSHERRSIME,

SMERST
= t
A = = = M SN
M | CHE @ o1& 9 O
m & = S
2 . V7 | q
»H._‘ _t_ ¢'_ =3 —@T%— —@1}—(( —é:?— = |'_1_.I J I S FETLR
zi | ///,g/ j E[ v t 77
” L. i L
L
TREERY
BE ME| A B |Da| F J || L |L2|N d e | el f g m | ml| q u | ul
GD-NfO | 3115 | 31 15 2 N 16 18 50 | 25 &} 95 | Mé& | M2 | 52 98| 75| 45 7 7 7
GD-NfO 4422 44 | 22 2 15 | 24 245|100 | 50 9 105| M8 | M4 |68 158 N & 1 10 10
GD-NJO |5225| 52 | 25 2 18 28 29 | 100 | 50 | 10 135 MIO| M6 | 85 168 | 12 7 1 14 il
GD-N/O |6230| 62 | 30 25| 22 | 34 35 100 | 50 | 12 [ 165 |MI2| M6 [10.5 19.8 | 15 8 1 18 12
GD-NJ/O |7435| 74 | 35 3 25 (425 40 | 100 | 50 | 14 185 | M14| M&6 125 228 18 10 1 19 16
GD-N/O |7845| 78 | 45 35| 25 | 45 45 100 50 | 14 185 | Mi4| Mé | 125 328 18 12 1 29 | 20
me | A KEL e L
mm| g
GD-N/O 3115 100 150 200 250 300 350 400 450 500 1200
GD-NfO 4422 200 300 400 500 600 700 800 2000
1 | .80
GD-NfO 5225 200 300 400 500 600 700 800 200 1000 2000
GD-NfO 6230 300 400 500 600 700 800 900 1000 2000

N/O7435N/[07845 Bt R FiEEH),



il

mﬁﬁﬁiiiiﬁﬁﬁ

T mmmssm#mmssmmmm |

\ﬁﬁiﬂﬁﬁﬁﬁﬁﬁ

- EAEMNBRE

- A

-HE: 1 NERSESE
2 BEEES
3.GCr15

- TRBE PSR B

DV IR
@ GD-MIV RFRSHRSE
@ N[O EftiRIR

@ WM RFRERRE

GHfM

YT LI LLLLL RREH
St REHRGR
Cross roller needle roller coge
SMERST
—-‘—QI-‘—
: Lw
o |N0O00000000000000000]  odeesd
A B
p
TRIEERYT
' : Sitablefor Max.
el ‘ GD ‘ Da Lw ‘ B ‘ P ‘ g ‘ C/Needlein N ‘ AR Type l e
GD-MIV 10 2 4.8 10 4 3 530 N/O 62015 MV 3015 2000
MV 4020
GD-MIV 15 2 6.8 14 45 3.5 750 NfO 92025 and 5025 2000
GD-MIV 16 2 8.8 16 3.8 2.8 Q70 M/V 5025 2000
GD-MIV 20 2.5 9.8 20 55 4 1375 N/O 2535 M/V 6035 2000
GD-M/V 25 5 13.8 25 & 45 2350 N/O 3045 MV 7040 2000
GD-MIV 30 35 17.8 30 7 5 3600 N/O 3555 M/V 8050 2000

47 F]c”:|p



BmK

Memorandum

Page" 48
FETREREIMERAT



A\ BCSREORM0N, (RTRBERACSOEXER. NN TERIATSNRAESOES TERNBAFERRAS, WA 50 SRR R R0 70 B
AER, BFSTED, ARTHNERNEESLE, HEREEER,

We reserve the right to make technical changes or medify the contents of this decument without prior notice.All the agreed particulars shall prevail.
All rightts reserved.

RAFREDN
This Manual Printed On Environmentally Friendly Poper

O

o I S
kiEmAEARBhit8BIR O '

YUEQING GUANDING AUTOMATION CO., LTD.

BiE: 13868719779 L
dhk: HTIEREDIHEMIE 3999 S B—E3n&s




